Central Tendency & Dispersion

14: Measures of PYQ Nov. 18
(7)  If total frequencies of three series are 50, 60 and

90 and their means are 12, 15 and 20
respectively, then the mean of their composite

series is
a. 16 oy G
¢ 16.5 d. 14.5

PYQ Nov. 18
® If the mean of the following distribution is 6
> then the value of P is
e L 6 |10 [P+ |
o N R e e T
7 & b. 5

b. False 11
d Noneofth&se : PYQ June 19
~ PYQMay18 ©) msgand the AM of first
- Ifwdl item is reduced by 15 A. Mis and then AM of remaining
¥~ Reducedby15 |
PYQ Nov. 19
PYQ May 18
0 The aoerage of a series of overlappmg averages
,RW of which is based on a certain number.
' , within a series is know as. o
Movmg average
~ Weighted average
Simple average
- PYQ July 21

(11) There are n numbers When 50 is subtracted

. ¥ from each of these number the sum of the
numbers so obtained is — 10. When 46 is
subtracted from each of the original n numbers,

' _ilgp the sum of numbers so obtained is 70. What

; the mean of the ongmal n numbers?

Q;Wu SR b 25 7 :
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PYQ Dec. 21

(14)  If average mark for a group of 30 girls is 80, @
group of boys is 70 and combined average is 76,
then how many are in the boy’s group?
_RESEES ) | b. 20
6 W d 19

PYQ Dec. 21
For a data having odd number of values, the
difference between the first and the middle value
is equal to the difference between the last and the
middle value; similarly, the difference between
the second and middle values is equal to that of
second last and middle value so on. Therefore, the
middle value is equal to
a. Half of the range
Half of standard deviation
Mode
Mean

(15)

b.
c.
d

PYQ June 22
When each value does not have equal importance
then we use

a. AM
C. HM

(16)

b. GM

d. Weighted Avg.
. PYQJune22

The mean of 20 observation is 38. If tw

observation are taken as 84 and 36 mstead of 4

and 63 find new means.

38.45

(17)

a.

F 8k us Uf 'gsq—f

nw&mdy AR 451, :

instead of 50. What would be the correct
the wrong observation is corrected?

ai > 50.5 b. 49.9
c. 495 d. 50.1 “
. PYQ Ju
(21) Find the mean of the following data '
Class interval Frequency
10-20 9
20-30 13
30-40 6
40-50 4
50-60 6
60-70 2
70-80 3
a. 23.7 b= 55.7 _
¢’ L 39 d. 437 §
‘ ‘ PYQ Jun
(22) The mean of a set of 20 observations is 18.3. k
wmean is reduced by 0.6 when a new obsero"
is added to the set. The new observation is:
W L' 176 b. 18.9 .
S 57 d 246 G
PYQ Dec

23) Ifmean of 5 observations x+1,x+ 3,%+5,x1
and x+ 9 is given 15, then the value of x willl
a. 10 b-""12
c. 8 (/e I |

PYQ De
Th mean of the first three terms is 17 and
of next four terms is 21. Calculate the

(24)

.'\'4
ean |

seven terms.
a. 18.28 b. 19.78
RaC _19.58 d. 19.28
: ' PYQ Dec

~The meanvof a set of 20 observations is 18. 3 -
mean is reduced by 0.6 when a new observatic
is added to the set. The new observation is:

i e A b. 189
e e 5.7 d. 246
e PYQ June
(26)

The mean of a set of 20 observations in 18. 3
mean is reduced by 0.6 when a new observa 0
is added to the set. The new observation is:
B 0 17.6 b. 189

5.7 d 246




: {W’i‘ AT o PY: Q Iune 24
w jere 7€ 110 groups containing 40 and 30

ﬂ” gatwﬂs and have arithmetic means as 50
then the combined arithmetic mean is

3,::-*1 5428 | d. 50.28
o s W 1 PYQ Sep 24

m mean of group X is 70 and the mean of

A gmllf’ Y is 85. If the number of observations in

| up Y i five times that of group X, then the
ﬂ‘ wmbm@d mean of both the group is:

- e 580 bivs 75

£ 775 i e d. 825

2 a 35a
bish 6 a
8 a 9 b
;& BAoS 125.d
14 b 15 d
A7 © 18 a
20 ¢ 21 b
23 a 24 d
2655 ¢c c

Arithmetic Mean

Mock Test Paper Quest
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@
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va. 0 b.:&5

MTP Nov 18
The mean salary for a group of for a group of 50
male workers is Rs.4800 per month and that for
a group of 50 female workers is Rs. 5600. the

combined mean salary is
a. SIOQ b. 5200
c 5300 d. 5400

MTP Nov 18
The mean age of a group of 100 men and women
is 25 years. If the mean age of the group of men is
26, then that of the group of women is 21 then the
ratio of women and men in the group:

a. 1:1 4 bt sl:2
C. 1:3 o d 14
i MTPMay 9 JCAISM/MTPSepMII

If the relatwnship‘between two variables u and v
aregzvenbyZu+v+7 0 and if the AM of u is
10, then theAM of vis
Il b. -17
' ~»27 d 27

- MTPMay19 Series IT
If there are 3 observattons 15, 20, 25 then the sum
 of deviation of the observations from their AM is

¢ N5 d. None of these
S an A - MTP Nov 19
Themeanofthevaluesofl 2 3 ..., n with
respective frequencies x, 2x, 3x, ...., nx is.
a. n+1 b. n
5 i
2n+1

""'ge of skilled

. ' )‘x\- ‘

i i\‘mx’:m e CiEy;
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it kers is 6000 per month. What is the comp
MTP Nov 19 Z‘Zm a2 9
(10)  The average of n numbers is x. If each of the i 6500 b. 6200
numbers is multiplied by (n+1); then the average c. 6160 d. 5600 |
of new set of numbers is ' MTP Mar 21, MTP Ap,
. bo x/(n+1) e variable x is 50, then the me
C. (n+1)x d.  None of these (19 :}h: T;‘;ﬁ;}{ :ui L be
MTP Nov 19 7 a6
250 ’
(11)  The average weight of 8 person increases by 1.5 Z' 2%5 4. %273
5 kg, ifaperson weighing 65 kg replaced by a new Saionnl , MTP gy
person, what would be the weight of the new ) Thesum of meanan 4 SD of a series is a + b, ify
o ?76 k b. 80k add 2 to each observations of the series then th
Z. 77 kg d Noni of these sum of the mean and SD 1s |
5 <4 . o May 20 a a+b+2 455 by Z. 6-::})4
b, Wd a+ ‘
(12)  If the relationship between two variables u and v ah 4+a ,b i G N
jven by 2u + v+ 7 =0 and if the AM of u is ; i, S MTI
::Je fhl:nthey A;lvl o;v is : : (21) At ABC ltd, the average 43¢ of ffmployees is 36
: , i 00 ien  Average age of male employees is 38 and that
c- -27 'd' 27 females is 32. Find the ratio of female to male jy
A ICAI SM, MTP Nov 20  the company.. syt i
(13) Two variables assume the values 1,2, 3,.. 5 with a7 a@\-’f . 1:3 d. 3: :
frequencies as 1,2, 3, .5 , then what is the AM? =+ ¢ 12 e
a 113 b. 158 g« 50 ‘MTPNoo2
c. 486 d 10 " (22)  The mean height of girls in class in 162cm whilg

for boys is 182cm. The ratio of no. of girls: boys

* (14) The sum of the squares of deviations of aset is 1:2. Find the mean height of the whole class

observations has the smallest value, when a. 170cm b. 180cm
i, % C. 154 cm d. 17533 1
’ MTP Nov 2

(23) The average of 10 observations is 14.4. If the
average of first four observations is 16.5. Th
average of remaining 6 observations is :

b. 13.0

d 125 4

| o MTP Oct 21

2,43,53,62,59,48,31,24,33 is

5 b 43

d. 41

R mrrocd

~ If the AM of any distribution be 25 & one te

15 18. Then the deviation of 18 from A.M is

"‘ 7 b. -7

AR, d. Noneof these

S e MTP Oct 21
) The algebraic sum of the deviations of @
= ﬁ'equency distribution from its mean is always,




§-2eT0 number
e MTP Dec 22 - Series T

. MTP
- e Oct 21 (34) The mean of 100 students was 45. Later, it was
WM‘M dlfcoveredthatthemarksofnoostudenlswere
. Mean misread as 85 and 54 instead of 58 and 45. Find
i b correct mean.
. Grouped Mean a. 68 b 36
none c. 4464 d. 52
el e MTP March 22 MTP Dec 22 Series I
- qperage marks for a gToup of 30 girls is 80, a (35) The AM of 15 observations is 9 and the AM of
W roup of boys i 70 and combined average is 76, first 9 observations is 11 and then AM of
H Sjen how many boys are in the group 2 remaining observations is:
& o2l b. 20 as yrseid b. 6
fens 221 °1 d. 19 ¢ 5 & d 89
e . MTP June 2023 Series
i) If there are three l?bseroations 15, 20, 25, then (36)  The mean of 100 observations is 50. If one of the
B e sum of deviation of the observations from observations which was 50 is replaced by 40, the
their AM is. resulting mean will be:
0 2 b¥ 55 a 40 b 49.90
(¢ d 10 c. G50 d. None of these

0) The mean weight of 15 students is 110 kg. The (37)  The mean annual salary of all employees in a
~ mean weight of 5 of them is 100 kg. and of & . company is T 25,000. The mean salary of male
 another five students is 125 kg. then the mean . and female employees is T 27,000 and ¥ 17,000

weight of the remaining students is : &  respectively. Find the percentage of males and

ey 320 = b. 105 females employed by the company
0.  60%and40% b. 70%and 25%

c.  70%and30%  d. 80% and20%
(38) The average age of 15 numbers in a class is 9
years. Out of them, the average age of 5 students
is 13 years and that 8 students is 5 years. What
is the average of remaining 2 students?
a.  Syears b. 9years
c.  10years d. 15 years
B0 MTP June 2023 Series I1
(39) The students of a class 10* have an average
~ weight of 50 kg. The strength of the class is 49
 students. On including the weight of the
rincipal, the average weight shoots up by 0.8 kg.
b e s 755 anodweaads t b 90
L el 185 11 i swoiivrd. o None of these
Rl - MTP June 2023 Series 11
(40) The average of (p+q) consecutive numbers
~ starting from1 is ‘r’. If ‘s” is added to each of the
‘numbers then the new average will be?
: b. r+(sf2)
~d.  None of these
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MTP June 2023 Series II

(41)  The average weight of 40 people is increased by

2.4 kg when one man weight 73 kg is replaced by
another man. Find the weight of the new man?

a. 121 b. 169
C. 154 d 149
MTP June 2023 Series 11

(42)  The average salary of the whole employees in a
company is ¥ 400 per day. The average salary of
officers is ¥ 800 per day and that of clerks is Z 320
per day. If the number of officers is 40, then find

the number of clerks in the company?
a. 50 b. 100
c. 150 d. 200
- MTP June 2023 Series 11

(43)  The average of 6 numbers is 30. If the average of

the first four is 25 and that of the last three is 35,

the fourth number is
@ w25 b. 30
QU 235 ) : d. 40
e 1 'MTP June 2023 Series I1

(44) A student marks were wrongly entered as 85
instead of 45. Due to that the average marks fo

>t , ,;-.)ygars The average age is increased by two ye g

‘(5'2) There were 50 students in a class. 10 failed w u-

Ao  who passed?

a. 2n+l bl
3 2
c. (n+1(2n—-1) d. M
6. 2
MTP Dec 2023 Sepip

ol

(49) The average wages of a group of unexperiens

labours is < 1000 and that of a groyy

- experienced labours is  1,500. If the combiy
wage is % 1200, then what is the Pefcenta

experienced labours?

a. 60% b. 40% ‘I

c. 50% d. None Ofthase 1

MTP Dec 2023 Se

(50) Ifthe arithmetic mean of 1st n natural nu b
* is 6" then the value of N’ is: i"

i § bt b1 f
94 00 ~d. Noneof these
o T MTP Dec 2023 Serie:
'I‘héavemge age of a group of 10 students was ]

when two new students joined the group. Wha
' is the average age of two new students who joi
' the group ? 1

i 22 years b. 30 years
i 44 years d. 32 years
et MTP Dec 2023 Se

-average marks were 2.5. The total marks of
- were 281. Find the average marks of stud

Bhd & b. 25
256 d. 86
) - MTP Dec 2023 Se ?

 the mean is reduced to 60% of its value. If 5
addaﬁfo all the obsermtwns, then the mean Wik

b. 30
d. 65

. MTP June 24 S¢

| ”"'"“"sala'yforagroup of 40 female worke

is % 5200 per month and that for a group "f

male workers is 3 6800 per month. What is €

36160 b. 2 6280
26890 d. 26920



MTP June 24 Sepies I
\ Wwe, tof 15 students is 110 kg. The
1

of 5 of them is 100 kg. and thqy of

ve students is 125 kg., then the meqy
gag” ofthe remaining students is:
b. 105
d.  None of these
S - MTP June 24 Series [
- M“Xe age of 15 students is 15 years. Out
[ f d ihese the average age of 5 students is 14 years
d that of other 9 students is 16 years, then the
? uflsﬁ student is

e 1

b. 14 years

d.. None of these
- MTP June 24 Series 1T
ﬁ) -m average of marks obtained by 120 students

in a certain examination is 35. If the average

ﬁ maﬁcs of passed students is 39 and that of the

students is 15; what is the number of
th who pz_zssed in the examination?
il - 100 b.is. 1150 A

: % ) d. Noneof these

---------

o MTP Sep 24 Series I
gzsglean salary of a group of 50 persons is
Later on it is discovered that the salary of

0
fn;ahas been wrongly taken as 28000 instead of
00. The corrected mean salary is

a. 3 5854 b. 25846
C. T 5840 d. None
MTP S
& ep 24 Series I

The algebralc sum of the deviations of set of
values from their arithmetic mean is:

4. &350 b. <0
Coviil) d. None of these
MTP Sep 24 Series 1.

64) The AM of 15 obseroations is 9 and the AM of
first 9 observations is 11 and then AM of
remammg obsematwns is

© o W

12
15 b
18 d
211
24 d
27 e
30 b
33 .d
36 b
39 B
42 d
45 b

a
51 b
53 b
56 a
59 d
62 b




@

(6))

@

c. 4
Z;.,, p‘

G T

' PYQ May 18
For 899, 999, 391, 384, 390, 480, 485, 760, 111,
240. Rank of median
a. 2.75
C. 8.25

bi75.5

d. None of these

. PYQ Nov. 18
The median of the data 5, 6, 7, 8, 9, 10, 11, 12,
15,18, 18 and 19 is

a. 10.5 b-10
ol 11 d.A5 115
v PYQ June 19
Which of the jbllawzng is positional average?
a. Median b. GM
c. HM de AM
: PYQ June 19

. For the dtstrtbutlon The value of median is

x 1 2 3 4 5 6
6 910 P4 112 8
a. 3.5

o . 36,72,87,19,66,56,91 is

(14) Along a road there are 5 buildings of apartments

PYQ Nox
(10) Whichone of the these is least affected by e;
?
avleue~ Mean b. Median :
ci Mode d. None oft hesl
PYQ Noy

(11) Ten matches data is given. Then which o 1

following cannot be found?

a. Least score

b.  Highest score

c. Best score

d.  Median score

PYQ I

(12) Which of the follawmg measure does not pos

mathematical properties?

a. Avrithmetic mean

b. Geometric mean

c. - Harmonic mean

4. Median 3
4 PYQ De g

(13) The medxan value of the set of observatlons

he . 53 b-5:87
Ve . 61 d 19
PYQ Dec.

3¢ markedas1,2,3,4, 5. Number of people residing
in each building is available. A bus stop is to be
setup near one of the buildings so that the total
 distance walked by the resident to the bus stop
fmm their buildings must be kept minimu .
Orte must consider involving .

ﬁ”d theposmon of the bus stop.
- Mean b. Median
' d. Weighted mean
v PYQJune2

:mmvs@“'deqle for'the numbers 15,10, 20, 25, '1 g
T 1213

a. av13

b. 10.70
11.50




o deviation is minimy,

PYQ Dec 2;

When deviati,
_ ﬁmm ns
- Mean b Mediay
ode & Range
PYQD,
ofthe obsematzo 2,7, 35c9222
, ;7»»2.81» 51,56 is
- 695 b. 7
«* “ d 615
- PYQJunp3

e

mofthefOUme setof
b ,..24,18 36:42,30, 28,21, 59, 55

.\

"#9.} 265

'9*.3{1#28‘5

gwendataset510364

}9,29,4,19 11, 4; what is the meg;
étfé‘& ' 4

8

febaid 275
d. 29.5
\Mﬁk 1 h PYQ Iun 23

8,93, 15,
an?

(25)

Median and Partition V

Q) Foropeneni

6 SO R oS T

stﬁoatzon, which of .the

foy
N
SR RS RN o8

alues

o

followmg is the best measure of central tendency?
b. GM
d.

4 _Mode

m?fw,

e
e

gng gwen set' of :

v.gmsyxwm
M\u wah

) f.‘tﬂ\r- 95
_;@%.-.;;’—K.-f; i
W f?‘fs‘;x‘"?‘

IR

e
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MTP May 19
(4) What is the value of the first quartile for
observations 15, 18, 10, 20, 23, 28, 12, 16?

a. 17 b. 16
2, 12.75 d 12
MTP May 19 Series II
(5)  The presence of extreme obseroations does 1ot
affect
a. AM b. Median
C Mode d. Any of these
MTP May 19 Series I

(6) The third decile for the numbers 15, 10, 20, 25,
18,11,9, 12 is

a 13 b. 10.70
& ogld d. 1150
~ MTPNov 19
(7) The thzrd decile for the numbers 15, 10, 20, 25,
' 18,11, 9, 12 is
w57 13 b. 10.7
cogr11 : d 1150 %
' o - MTP Nov 19

8) For open-end classzﬁcatwn, which of the
following is the best measure of central tendency ?
a. AM b. GM )
d. Mode

(15) The pomt of mtersactwn of less than ogiv . ;,

(18) Find D, for the following obseroations. 7,9,

{4 " Any of these "
: MTPM

Two variables X and y are given by y=2x

(13) the median of x is 20, what is the median of
a.tyn20 b. 40
G 37 d. 435

(14) Quartile can be determined graphically usi'f
a. Ogive 3
b.  Histogram
c. Pie-chart
d Frequency polygon o

% MTP Ag

s  greater than agwe curoe s gives us

i@ 'b. Mode
c d HM
(16) ,The ‘dumofdatalS 8, 11,6, 4 152, 18.
i W b 8 :
d. 95

 bservations 15, 18, 10, 20,23, 28,12, 16248
a1 b. 16
¢l «12.75 12 1
:  MTP Nov

4,10, 15, 14, 18, 6, 20
a. 11.40 b, 1240

-dx.113.80

is 1&. then the value of Median is:

% 2160

gl i d Noneofthese-

.. MTP Dec22 - Seré€

he value of 3rd quartile from 4
a 40, 35, 51, 21, 25, 16, 29, 27, %




37,50 b. 30.25
25 ds” 35
MTP Dec 22 Series IT
qrmg following is positional average?
~ Median b. GM
: HM d. AM
dgstribuhon, calculate Median

B2 | 3 |a#h) S| 6
9 |10 je14]| 12} 8
b. 3
iy
 MTP June 2023 Series I
‘ m"dutwnslupbehoeentwovanablexandyts
La by 4x — 10y = 20. If the median value of the

mblexxsZOthenwhatzsmedmnvalueof
' variable y?
j&{ be 10 b. 2.0
F c 30 - d 6.0
. ~ MTP June 2023 Series I
6) mmadwnofﬂteobsematwns:iz 72, 35, 92, 67,
~ 85,72,81,51,56 s

69.5 . DV
= SBEE ST s o d : 615 B

£

SN

the followmg data:
69 | 9-12 | 12-15 | 15-18 18-21
5 5110 23 21 12
' g 25 b. 4.6
Fgee ) oot | 14.6 SEEE - d. ‘135
}; PR RS : Q Nov. 19

o
afk NN
it !

Central Tendency & Dispersion

B4 MTP June 24 Series 1T
(31)  The wages of 8 workers expressed in rupees are
42,45,49,38,56,54,55,47. Find median wage?

a. 47 b. 48
e 49 d 50
Answer Key
i%c 2 b 3 b
4% 5 b 6 b
7 b 8 ¢ 9 b
10 ¢ 11 st 12 b
1310 14 a 155 ¢
16 d i7=c 18 b
19 d 20 4c 21 b
2 a 23 a 24 ¢
d 27 a
b 30 ¢
sibhw A




Central Tendency & Dispersion

+1
~ PYQ July 21 c. E%,
6)  Ify=3+1.9x, and mode of x is 15, then the mode 5 BT
ofyis: : e '
a. 15.9 b. 278 PYQ!
C. 35.7 : d 915 £¥0 Pyt '(12) The jarmonic mean Aand B is 1/3 and r

One hundr;d pamapants expressed their opinion s mean oj" C and D is 1/5. The harmonic ;
on recommending a new product to their friends ABCD;H 37

using the attributes : most unlikely, not sure, a. £ i

likely, most likely. The appropriate measure ofk | C. o 4

that can be used here is -' o

fn hﬂ;{en;nen L b (13) Afireengine rushes to a place of fire acc :
b.  Mode - speed of 110 kmph and after the complet
c‘ Geometric mean _ operati ‘ \‘the base at a :
d: Harmonic mean rage speed per hour in per-din
‘ . speeds. |

%3

L - PYQNov.18

(8)  The Geometric mean of 3, 6, 24 and 48 is '
a. 8 it 12
2 24 : d 6

(9)  Expenditures of a company (in million
> item in various years

Year Item of expenditures

Salary | Fuel & | Bonus | Int.on | Taxes'

Trans. | Loans y

1998 288 98 3.00 234 |° 83

108 %

harmoniz; means, then the harmonic
combined observation is
2 onH Fnll

1999 | 342 | 112 | 252 | 325 | 108
2000 | 32¢ | 108 | 38¢ | 416 | 74 |
2001 | 336 133 368 | 364 | 88 n,+n,

et '!,‘D?éﬁ~ 2002 420 142 3.96 £ 0 | b. | n1H1 +n2H2

. What is the avg. interest per i h the
‘ 2 _.A;.riau"--_ 3 ':&"-‘%"’t;j\ AT - ‘ 4 Hl +Hz

\.‘:"_u: “’ ‘c::‘x, id . n1+n2

; > 3 Vi ‘-"‘_'-T:Hl~ o ,,. 5 4 ,E’r ST
b, - %‘ i . Gl tnH,
Al TR S et [ A
20 ) i y e VE
. i@ 24 1Hz
oy - PY(
5 3l - Ky
pd B
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Central Tendency & Dispersion

s v PYQJune2s
pric Mean o 3.7 11,15, 24, 28,30, 0 is 6 MTP March 22
i b0 If two variables a and b are related by c= ab then
A d 12 GM. of c=
v G o PYQ June 24 a.  GMofa+GM ofb
i : b GM of a x GM
ﬂ" mean of two numbers is 10 and fa of b
| Wwwmcamw then the difference in the ¢.  GMofa-GMofb
‘ MWS'S d.  GMofa/GM of b
| b. 14 . ‘ MTP June 22
(6)  Geometric Mean of 8,4, 2 is
o T 3 c 8 d. none of these
2 5 d b : ‘ MTPDCCZZ SenesI
St : 6 d (7)  The geometru: mean of three numbers 40, 50, and
; 9 b }1' xis 10, andtheoalucoftzs
1 ¢ 12 b R &,
s s c a1
! ; ' ‘MTP May 18

@ A mun ave vfrom'Delhz to Agra at an average

Vode. GM, HM o 'ﬁ@lgﬁ!per hour and back at an average
- F60 A _ What's the average speed-

b. 40 kmihr

d. 35kmlhr

: § MTP Nov 19

A person travels from A to B at the rate of 20

" kmlhr. and from B to A at the rate of 30km/hr.

What is the average rate of whole journey?

a.  30kmlhr. b. 24 kmlhr.

£ 35 komfhr. d.Noneof these

P e - MTP Nov 20

a | {ftherearetwo groupswzth75 and 65 as harmonic
 means eontammg 15 and 13 observation, then

iy

Mock Test Papcr Qm
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Central Tendency & Dispersion g e |

er ,

MTP Oct 21 M;_w b - 3 &

(13)  If there are two groups with 75 and 65 as harmonic 12D 5 b 6 @
means and containing 15 and 13 observations, a5 8 b 9 b
then the combined HM is given by 1o 11 ¢ 12 a_v
a. 65 b. 7036 10 a T 15 el
S d 71 13 ¢ 18 b*
MTP Dec 22 - Series I 16 ¢ % ; ¢

(14) A train covered the first 5 km of its journey at a 19548

3¢ speed of 30km/hr. and the next 15 km at a speed of
45 km/hr. The average speed of the train was:

a. 38 km/hr. b. 40 km/hr.
c. 36 km/hr. d. 42 km/hr.
: : MTP June 2023 Series I :
(15) Mode is: o PYQ]

a. l,a?st frequent value . Relation betwééii inean, median and mode is
b. 5 Middle Most value o mean-modf-’* 2 (mean-median)

: xo:Zfrfe;f}znet Value : ean—medzan = 3 (mean-mode)

e . : i
; - MTP June 2023 Series 1T

(16) A shopkeeper wants to place an order for t-shirts -
with the wholesaler based on past sales data. The .
size he orders will be decided looking at the

_____of past sales data?

a. Mean

b. Median 34.3 o 33.3

C. Mode : c: 34 d 33 :

d. Noneoftheabove , B PYQ Ju :
SR  MTP B Ina moderately skewed distribution the value

mean & median are 12 & 8 respectively. The
of mode is




- PYQ Dec. 21 PYQ Dec 23
AM and GM for 10 observations are both 15, (15) The AM and HM of two numbers are 5 and 3.2

J (7) ’vaalue of IIJSM i respectively, then GM will be:
| e a. 44 b 4.2
I Moretan o ¢ 40 d 38
i /15 : / PYQ Dec 23
2 " RO C“""Ot Lo besdsmtions (16)  If mode of a grouped data is 10 and median is 6,
PR PYQ Dec, 21 then what is the value of mean?
;ﬂ modemtely skewed distribution, the median A b. 4
| E s twice the mean, then mode is _ times the median, AR d 8
b. 2 ‘ PYQ Dec 23
23530 d.. 312 (17) If AM and G.M of two positive numbers a and b
R seobioiwnil o PYQ Deci21 . . are 12 and 12, respectively, find the numbers
W that mean = 70 20 and mode = 70.50, the a. 18and6. - b. 15and9
Wmsarected to be. _ c. 16and8 . d 12and 12
';'uf*“'i e DS b. 7020 S Y ’Sstx b PY! Q Dec 23
"“"‘N,b.‘s W 70.30 d 70 35 (18) If the mean and medzan of a moderately
| B et 8 B - PYQ Dec 22 asymmgtncal series are 26.8 and 27.9 respectively,
(10) Ifmean ( X) is= 10 and mode (Z) is=7, then find - _),_then the most probable mode is:
~ out the value of median (M)? a0 354 b. 30.1
L D9 d. 708
: - PYQ June 24

IfMean of a data set is 22 and Medzan is 22.33 then

21 b. 21.34
Fe 22.99 d 2154
e : - PYQ June 24
20) Accordmg to the empmcal rule, if the data form a
“bell-shaped” distribution, then the maximum and
‘minimum frequencies occur at and
% respectwely : )




Central Tendency & Dispersion : r
Answer Key P TAM > LV Zﬁ :
1d 9 b 5 o 4~ GM>AM> p—
4 a 5 b 6 a ay 1954
7 ¢ 8 b 9 ¢ (7) Fora moderately skewed d‘si"b“tw"'w’udl
10 a 11 12 a following relationship h]‘:dlds - :
13 d 14 a e 2. Mean —Mode =3 (Mean — Median)
16 b 17 d 18 b b. Median — Mode =3 (Mean = Median) ﬂ
195 20 d 21 b ¢c.  Mean — Median =3 (Mean — Mode)
22 b 4 Mean — Median =3 (Median — Mode) =
MTP Mq
(8  Foramoderately skewed distribution, wluch
Other Central Tendency Problems following relationship holds?
- a. Mean — Mode =3 (Mean — Medum)
b Median —Mode = 3 (Mean — Median)
C. Median —Mode =3 (Mean — Median)
1) Ifthe artthmetw mean between two numbers is 64 d -tMedmn b 3 (Medzan — Mode)
and the Geometric Mean between them is 16 . The o :

* Harmonic mean between them is __

a 645w b. 4
L) 16 d 40 . ;
: = MTPMayls
@ Whenﬂzemeanzs3.57andmodet3213thenthe
value of median is __
a. 3.09 b. 5.01

c 5.01 d. none of these

3 The relatwnsth between Mean,

thch of the follow:ng statements is true?

d.  Normally, GM is the best measure of

; 16
d. 4.10

MTP 1D
“

Usually mean is the best measure of

central tendency.

b.  Usually median is the best measure of
central tendency.

C Usually mode is the best measure of
central tendency.

central tendency

o 5.01
d. Noneofthese :
: MTPA r2

n the G.M will be
b. 16
d 4.10 1
M'I'PNov

t.‘should be ambzguously defined
tskould be simple to compute




'i«\*;l‘- "t MTP Nov 21

mﬂ(ﬁ return from three different shares are
l’» g’w% 200% and 400% respectively. The average
ﬁ f‘uofﬁmm will be.
| 350%

‘-. b. 233.33%
‘@Wi PRl o | MTP Nov 21

Fmdagtwonumbers:fAMandGMzsIOandG

6 6 b..512. 8

B ¢ -9,4- d. 18 2

£ - MTP March 22
WWMy skewed dlstnbutwn, the median is
fwice the mean., then mode is _ times the median.
X b. 2
B 5 . 30
" T  MTP March 22

mdﬂleGeometrtcnwanbetweenthemwahe
HurmomcMeanbetweenﬂtemzs
b o
od: 405%

d.  None
MTP June 2023 Series I

(23) I mean (x) is = 10 and mode (Z) is = 7, then find

out the value of median (M)

a. 9

by 2l

e g

d. 4 33
Yol BS o AT MTP June 2023 Series I

~b.  Mode =3 Median - 2 Mean
C. Mode = 1/3 Median = 1/2 Mean

(24) lf Arithmetic mean between two numbers is 5 and
: GeomeWmeathhenwhatzsthevalueof

: foMmg is the correct relation
", medtanandnwde -




o moasze}iesII G MTP June 54

37) When the mean is 3.57 and mode ; is 2.9 In
(29) The mode of data is 18 and mean is 24, then ( e ation o, 3, ey
G i 21 Sl .d;s Nore f thes,
: Y ' % oA MTP Sep 24 Serie
 MTP June 24 Series [ STg,
de of a data is 18 and me, [
d AM is (38) _[fthemo nis)q
(30) I;:;d the numbers whose GM is 5 an g i they
a. 12and13 b. 13.09and1.91 a ;g Z. 24
c. 1dand1l d. 17 and 19 LR ;1
veu? BE0C et TNA MTP June 24 Series I MTP Sep 43€ne31
G1 For“a nwd;mwlyshéwed dzstributwn, which (39) TheHM, H of two numbers is 4 ang g, Ay,
ofthe following relationship holds? 3¢ A and the GM, G satisfy the equati,
Mean — Median = 3 (Median — Mode) S 2A+G? =27, the numbers are:
| b. Median -Mode = 3 (Mean -Median) e AT 3) s b. (9,5

Mean — Mode = 3 (Mean — Median) s

c. " 127
d. Mean MedmnS(MeanvMode) ;

SR T i

V 'Ii‘ g.z 3 a

G2 (fﬂledx,ﬂ&renaebetweenmeanandmodets ' Ghitp
@ﬂm&edzfembetweenMwnand 0 .8 Pite
.'Medmwillbe it Hoe o,
Coruhy ¥
a

a

c

b

a

a

¢

L pYQ Nov. 18
of values is 65 and
set is 83, then tht

' Nore of thest
4 PY(Q Nov 19




e

Central Tendency & Dispersion |

o

MTP June 24 Series |

- MTP Dec 23 Series IT - : _
(29) The iode of data is 18 and mean is 24, then (37) When the mean is 3.57 and mode i 2.13,
median is the value of median 15 __
i sngg iy b 24 a. 3.09 b. 5.01 .
e (22 : 3 121 ik s45.01 d. None of thwe ‘
(30) Find the numbers whose GM is 5 and AM is (38) Ifthe mode of a data is 18 and mean is 24, e
7.5: ' : median is
a. 12and13 b. 13.09and 191 4. 18 b. 24
c 14and1l  d. 17and19 g 8 822 g 4
v ’ MTP June 24 Series I MTP Sep 24 Serie:
(31) Fora modemlely skewed distribution, which (39 WHM H of two numbers is 4 and their A
of the following relationship holds? - s+ A and the GM, G satisfy the equa
a.  Mean — Median = 3 (Median — Mode) 2A+G? =27, the numbers are:
b Median -Mode = 3 (Mean -Median) ' e (13 @ b (95
c.  Mean — Mode = 3 (Mean — Median) L 6,3) N d. (12,7)
d.  Mean — Median 3 (Mean — Mode) AT
MTP June 24 Series 1 3 a
(32) If the difference between mean and mode is a 6 ¢
69, then the difference between Mean and a a 9 ¢
- Median willbe ____ i a 12 ¢
B8 e bs 315 B 14 ¢ 15 d
c 23 d. None of these ; 6 b 17 b 18 a
- MTP June 24 Series I 19 ¢ 20 ¢ 21 a
(33) Which of the following result hold for a set of 924" 23 a 24 a
distinct positive observations? % 25 b 2% ‘a 27 ¢
AM.>GM.>HM. 28 a 29 ¢ 30 b
: 31 32 ¢ 334ia
34 a 35 a 36 a
§ W8Ziia 38 ¢ 39 ¢

(1) If the range of a set of oalues is 65 a_
b maximum value in the set is 83, then th

 minimum value in the set is
W r-ma&&&m 19g b hi'9 :
it é. 18 'd. None of these
Fi it ~ PYQNov.




S —— M/ﬁ

' S Contral Tendency & D Dispersion
PYQ Jan. 21 e

ip between P-series gnq - sétieg

f‘ 11"" 2P ~3Q-10=0. I the rap,
s"” Idb Sy
js 18. What would be the range of
| f: -4 i 1 % - A s MTPMa!I 18
, Q July 2 Ifthe ran —3x+50?
'«4[ - ionship between x and y is gwez b; . 2 5 Ofx 5 ﬁnd :mge60f i
‘p o 3y,10and the range of y is 10, then yhq B LG iyt € d. 44
e TS of x? . : ) MTP May 19
10 b. 18 ' The range of 15, 12, 10, 9, 17, 20 is
b g d. ‘15 L b 12
& e S PYQ Decidp Coield d. 11
| securedby.‘istudents in a subj . . . MTPMay19 Series Il
1 m ject @) The
B 82,756 84, 66. Whatlsthe coefficient of rw;ge of 15,12,20, 9, 17,30 is
: / e et z b 12
,Wo.lz b. 12 ; % ) 2
Pt 120 : d. 0.012 - . MTPMay19 Series I
§e - e . @ Ifthe rangeofgczsz find range of -3x + 507
f' : PYQ DCC. 23 g ; »

i !f e mnge of data i5 20 and its smallest valye
o5, then what is the largest value of data is? |

o 20 b 25 ¢

d. 30

The range of 28, 22, 40, 20, 15, 50 s

€% =408k - searhy <22 :
et el ~d. None of these
MTP Mar 21, MTP Apr 21

: (7) Whatzs‘the ooeﬂ‘iaént of range for below:
[ Class | 10-19 | 20-29 | 30-39 | 40-49 50-59

l M&Q%rcq 11 : 25' | 1b6 507 3
LY
E : ~ MITP June 2023 Series I
,,()} Whu:h of the following is @ oorrectSChZztement?
R  Range is unaffected by the change in origin
£ ‘gﬁ“‘g& d;‘:n emgzlt 3
- et )2 .‘h‘& Raugezsaﬁ'ectedbythe change in origin or
- g

-

RE éhahge in scale
. ‘W‘ wm © Range s unaffected by the change in origin
; -‘ . 5 % e !mfaﬁeCtedbychange n scale

o gmgetsaﬁectaibythe change in origin
~ but unqﬂ’ectedbychangemscale
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Central Tendency & Dispersion

PYQ
MTP Nov 20 Series I lue of mean deviati >
robable vatuc tion
) UR,fmd R,dethemngwofxandy respectively ;" TQm:;Oand Q,=15is
where x and y are related by 4x+5y+12=0, e b. 1875
what would be the relation between Rx and Ry? c: 7.50 ds 0 3
a. R=R b. 4R =5R, PYQ]
¢ 5R = 4R'. d. None of these G)  Ifevery observation is mcre_ased by 7 then:
: - i s a. Standard deviation increased by 7-
(10) is an absolute measure of dispersion. p.  Mean deviation increased by 7
a.  Ran c.  Notaffected at all
b Meaie Deviation d. Quartile dev_iation increased by 7.
c.  Standard Deviation PYQ
d.  All of the above (6 Themean deviation of the numbers 3, 10,6, 1
~ MTP Nov 20 Series IT 17,9,8,12 abouf‘fhd'mean is:
11 B’themngeofxisZ,ﬁndrangeof-3x+'50? 2
& b. 6 d 98
i) d 4 PYQ

e e e et )

" Standard deviation
Mean deviation

Range
Quartlle deo:atzon

“b"ut‘Arithmetic .
b. 44.33
d. 5185




Central Tendency & Dispersion

m—

- Mode
d. None of these

g : M’.I'PDec22—Sen'es'I
ich measure of dispersion is based on the
absolute deviation only?

a.  Range

b Standard Deviation
C. Mean Deviation

d Quartile Deviation

o S W
a o o

. _ (9) ‘:P e MTP March 21
- ind the mean deviation about mean for the
.MD about the Mean for the data numbers: 2,6,7,4, 8,3 X

1,10,12,12 : : diieioak
1.47 b 1.57. C. 5
[ d. 187 i |
. MTPNov20 (10) lf the rel 9
- Th mean dematton about Mode for the numbers the mean_ '_ ; Z'wn&about mean for x is 12, then the
411, 6/11, 8/11, 9/11, 12/11, 8/11 is  mean amau;n of y about mean is:
: 9/15 b X12 b. 7.80
e d- 1/5 d. None of these ‘
MTPNo'oZO. MTP June 24 Series I

; If ‘t‘ma vanables x and y are related by
X +3Y-7=0 and the mean and mean
deviation about mean of X are 1 and 0.3

mean deviation of y about mean is
g e9.20 b. 6.80 respectively, then the co-efficient of mean deviation
; L3920 d. 15.80 of Y about mean is. :
i e R e b.- 4"
= i d. 50

il Iftwovambiesxandy;arer
* 0 and the mean and mean d
: N m:d0.3 respectwel

ean of MTP June 24 Series II
i tof . . (12) The relation  between two . variables is
-4 AR «f"2x—3y+12 Olfmean deviation of y is 6 then

b. 6
d »Noneofthese
ne 24 Series I1

: mlandOSmpecﬁvely,thenthe
it ofmean deviation of y about mean is:
b. 4




PYQ ";i

%8

®

Standard Deviation

If the S.D. of the 1¢ n natural numbers is /30 then
the value of n is
a. 19 b. 20
C. 21 d. None of these

: ~ PYQNov.18
lftheom'mwof’S, 7,9 and 11 is 4, then the
co#ci!ﬂt of variation is:
a. b. 25
£ 17 d: 19

: - PYQ Nov. 18
SundarﬂDemahOnforthemarksobtainedbya_»
_student in monthly test in mathematic (out of 50)
as 30, 35, 25, 20, 15is ;
a 25 b. J5_6

: - PYQ Nov. 18

-If the shmdard dematzon for the marks obtained by

a student in monthly test is 36, then variance is

© Origin i
o SDwil mcrease by 5
p. QD uwil increase 55

o) Coefficient of variation is equal 10:
a. sD -

Mean
b. ___—-—SD x 100
Mean




, It is given that the mean (X) Q Jan, 21
standard devmhon (sd. )is 3, Oand

observations are incregseg byz I{ h:he

mean and standard de”mtlons ; N the ney,
a. X=10,5d.=7. 2

b. X=10,5d.=32

¢ X=14,5d.= 3.2

d X=14,5d.=7. 7.2

i, 665"

b. 258
(:. 6.75

d. 562

Ifthenumbersares 1 8 3 Zthen

oy 349 ' d 81

75,70, 65, 50, 70. Find rangeand
Fo 0 46 32.70 b
e C1 . 46,3150,

(25)

2 The SD ofl t0 9 natural numpey i PYQ July 21 |

of variation is: the coefficient
a. 56.13% T
' C 48.13% d 44 130/0
= Py
AM and Coeﬁiczent of vanatlon of X zs?OI::; 42(?
 What is the variance 30-2x :
poie 64 b. 56

Central Tendency & Disper sion

PYQ Dec 22
If the variance of random variable X’ is 17, then
~ what is variance of y = 2x + 57
o 34 b. 39
c. 68 d. 78
, PYQ Dec 22
If the variance of given data is 12, and their mean
value is 40, what is coefficient of variation ( cv)?
. 5.66% b. 6.66%
¢ 750% d. 8.65%
PYQ Dec 22
@7)  In a given set if all data are of same value then
 variance would be:. s :
. 0 - &8 b 1

(26)

(28 - IftheStandardDromtzonofdataZ 4;5,6,817

g 13441 then Standard Deviation of the data 4, 8,

: : PYQ Jun 23

_ The mean and variance of a group of 100

~ observations are 8 and 9, respectively. Out of 100
observatans, the mean and standard deviation of
60 observations are 10 and 2 respectively. Find
the variance of remaining 40 observations?

a. 45 b2 3.5

c 2.9:7 d~ 1.5
= - PYQJun24
X (30)'_ For the ﬁrst 20 natural numbers the standard
= * devidtion is

el sube i 7%

ic.. 5164 d} 6.54

. PYQ Jun24

| @1 If Arithmetic mean and Coéﬁiaent of variations
o - ofyare5and 20 respectively, the variance of 12

b 81
d. 100 _
I PYQTune2s
_Constder the data sefs:
Miye (-6,2-2,6)Y = 4,8,2,6)

Z={103 100, 102,101} Let 3 S S be the
o atcadafd deviations of the sets X, Y and Z

mpectwely Wehanethe relations,
'_ g9 <o <S5 .




o, Central Tendency & Dispersion “ =
b. SZ<S <Sx tflbutlon 0
bl %)) If the mean of frequency cy s o the's 1
E O ot ot coefficient of variation is 45% then sta
d. (S5, <9:%5, : deviation is. i '
\ ‘ PYQ Sep 24 s e Z -
(33)  If each observation of a set is divided by 10, then ¢ 4 5 e v ;
' the Standard Deviation of the new observation is: -
Wb i (4)  If the mean and SD of X are a and b rwpe
—— " of SD of original observation : 1
w0 ¥ £ : : then the $.D oles
b. = G5
o f SD of original observation wtepass alb e s
10 ‘ " 1 d. ab 44
o 100 of SD of original observation i eIy  MTP Ne
d. 10 0of SD of original observatio . ' A " g
f SD of original o P’;( G (5)  Coefficient of Variation (CV) is calculated
: ) b AM . 8
(34)  The Standard Devzatzonof the series is 3,6, 9, 12, i _j%xmo i S_wao 4
15 is: 3 2 ol . : : 3
R . fupig 5g | e g AM 00" d. Noneof thgse;
ET T 3 308 :;fMD‘ - -
" Answer Key T - Ey MTP N
1 a 2.0 3 b (6)"1"4-7TheSDforthedata6 9,10, 3, 71is
e 5 6 d YR 2350 b. 245
i 8 a 9 d b c ¥ 255 " 2.65
ST 11 a 12 b S M
s e e ) S 15 d The standard deviation of, 10, 16, 10, 16, 10
*: i3 \:116’ J‘Eg‘h 31!’ e 8 17i ST SRR A a8 ) & 1Y | ? X 6 16 is .
) CWW“”ﬁ”bﬁ““ﬁ”"““ ‘ gty b. 6 b
y mérwm% gﬁ&%ﬂ‘ﬁ'\é LRt e " s g d. 0

(8)  Ifall the observations are multiplied by 2, the
. .a. - New SD would be also multiplied by 2
" b.  New SD would be half of the previous §

A New SD would be increasedby 2
L New SD would be decreased by 2
o St - MTP May 19 Serit
NC) If the profits of a company remain the same fof
" last ten months, then the standard dewatwn
: proﬁts for these ten months would be?

a.  Positive

b.  Negative
G Zero
d. - Aor'C

i MTPMay 19
. s(}“?” ‘Ifxandyarerelated by2x+3y+4 0 and SDo
Bl 1s6 thenSDofy;s :
! w,iu: 2 .

s 40 a9



';,o

jfxandy arerelated by y = oy 5,

AM of x are known to be 5 and 19 Yes

then the coefficient of variation of y is e
e b. 30
40 d. 20

| MTP Nov 19/ MTP Sep 24 1

If the SD of x is 3, what us the variance of (5-x)?
. 036 b. 6
sl d 9

MTP Nov 19
lf the values of all observations are equal then the
smW Deviation of the given observations ; is
. 0 b2

’_71 i<l Noneofthese

MTP Nov 19

;) mstandard Dematwn ofa set of 50 items is 10.

‘Find the Standard Deviation if every item is
mcreased by'5
b5
: d. Noneofthese

on
Central Tendency & D 5per$l'

nd the SD and

(20)
when x is independent of Y

’

(22)

b g

March 21

ol v(x*‘y)r
If X and Y are two random pariables then

a v (x)+ v(y)
b.  o(x)+oly) -2 (xY)
c olx) + o(y) + 2 v ()
d s ) .
v(x)-v(y Y
The sum of squares of deviation from mean of 13
observations is 250. Mean of the data is 10. Fm
the coefficient of variation
a. 10% b.
¢ 50% & 0%

~ 45 MTP March 21
If variance ofw:us 5 ﬁen ﬁnd the variance of (2-
3x) N

25%

29 Thestandard dewatwn of 10, 16, 10, 16, 10, 10,

) 'I'hevarzanwofthedataS 4,5,8 is

16, 16 is
al "4 b. 6

d 0 :
M'I'PAper
45 b. '35
) d 6.5

MTPAprl

(26) If the profits of a company remains the same for the

last ten months, then the standard deviation of
proﬁbs for these ten months would be ?
b. Negative
d. A or C
. MTPApr21




Central Tendency & Dispersion

M) MTP Apr 21
(28) The Sum of the squares of the deviations from
mean of 10 observations is 250. Mean of the data
is 10. Find coefficient of variation.
a 10% b. 25%
c. 50% d 0%
MTP Apr 21
(29) The Standard Deviation of a variable X is known
to be 10. The Standard deviation of 50+5x
a 5 b. 100
c. 10 d. 500
ICAI SM, MTP Apr 21
30) Thed’mémandSquaseriesisa+b, if we add 2
to each obseroation of the series then the sum of the

b. 6-atb .
d asbH
- MTPNov21
(65 0) The SD is independent of change of
a.  Scale b. Origin
o Both(@and(®) d. Noneof these

s if"i.‘":.'ji‘:t'vﬁ.\j MTPNOU 21 ¥
by 4, find the .

(32) Ifall the observations are decreased
relation between new SD and old SD.
New SD = Old SD/2
" b  NewSD=0IdSD-2

C New SD=0Ild SD -4
~ d. Remains unchanged

a.

£ &

(33) Standard devtattan bfﬁrs n
 Whatisthevalueofn?
2 ora 867

o 3%

@)

*

¢ B

MTP Mayp,
¢ related VY'Y ~ 2x+5 and the Sp g,
AM of X 7€ known to be 5 and 10 resp., they 4
. coariation of Y5
coefficient of b, B0
a 23 4 20
. MTP]

c.
consecutive natural numbers ls

SD of first fiv¢ b 28

) 10
a A0 i

MTP June;
company remains same for the Jge
g;é”_SD of profit of the compan

If the profit ofa
10 months then
" b Negative
d. either (g)or (c
D MTP June
sriable x is to be 10. SD of 50+5x i
b. 100 - b
d. 500 {
R it MIP [unelg
m and coefficient of variation of the marks g
students is 20 and 80 respectively. What will b
pariance of them .
i 256 b.: 16
% 25 d. None of these
sengr MTP Dec 22 — Series |

If the standard déoiaiion 0f1,2,34..10isg,

then the SD of 11, 12,13, 14, ., 20 is:
e b. 10+c

d. None of these

ce of the series will be __
~ b. Decreased
~d.Noneof these

. MTPDec22 - Series
an and coefficient of variation |
espectively 10 and 30. The




Xy

MTP p,, T—
+3y+4 0 and v(x) = =6 the ‘sCfiesx

'If "o (y) s MTP June 2023 Series 1T
-9 d 6 There are two startups in ecom Jati
c MTP D struggling to acquire the market. Follow}"g.uin 3
g €c 22 Serie is for Mean and Standard Deviation of Ot
P 5D of)?lrs(t) ﬁve oonsecutzv: nat:;ml Numbers lss I amount of bought items per month on their
a. website.
~I3 d.
B \ \ M3 \JZDec " Startup A —’G
L, lfﬂw P"’ﬁt of a company remaiy sameforset::ui Z‘:ﬂ f:{l customers/ 40 30
10 manths.tl'ten the SD of Profit would pe: e
. Positive bi"\ Negative Mean billing amount | 22,500 | 2,200
c Zero d.  Either A op C | SD of billing amount Z10 Z11
ﬁ" Bl B MTP Dec 22 sm. es I Which startup has a better r,onsxstency when it comes to
(9) The sum of mear and SD of a series jg g 1., o sales numbers? 3
add 2 to each observation of the series thep the sum & StartupA
 ofmeanand SDis: - b. StartupB
: g suvd+ b2 bE 654} ;
beo &5 4+a b d. a+b+4 g

g So ssiat M’l‘PIune2023 Series I
lf the meﬂiaent of variation and standard
deviation are 60 and 12 respectwely, then the

; gﬂie' followmg is the best measure to
late the volatility of stock market?

~ Covariance

 arithmetic mean of the distribution is Standard Deviation
R i 40 b. 36 Variance
i 20 et ds 3l Ty g  All of the abooe
i : MTP]WZOZ@" o MTP Dec 2023 Series L

451) If the sum of square of the value
 Number of observation are 3(%
 deviation is 7, what is the 1 v
observation?

(57) Orzgm is shifted by 5, what will happen
a. SD will increase by 5
b. QD will increase by 5
L.C MD will increase by 5
d. Therewill be nochange in SD

(68) [ffneanaudweﬂiewntofmmhonofthemarksof
o 103tudents1s20and80mpectwely What will

of an individual series then the standard
on and variance both shall be __
b.  Unchanged
d. None of_these




\
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Central Tendency & Dispersion f :

(61)
>

MTP Dec 2023 Series IT
Mean and S.D. of a given set of observations’ is
1,500 and 400 respectively. If there is an
increment of 100 in the first year and each
observation is hiked by 20% in 2nd years, then
find new mean and S.D.
a.  1920,480 b. 1920,580

¢ 1600,480 d.  1600,400
: MTP Dec 2023 Series I1

If 5 is subtracted from each observation of some

certain item then its co-efficient of variation is
10% and if 5 is added to each item then its
coefficient of variation is 6%. Find original
coefficient of variation.
a. 8%
c. 4%

b. 7.5%
d. None of these
MTP June 24 Series I
Suppose a population A has 100 observations
101,102,103,200 and another population B has
100 observations 151, 152, 153,
V, and V, represents the variance of the two
populations respectively, then V , |V _
o 94 b 1
ey - 419 d. 2/3

; MTP June 24 Series

(64) If variance of x is 5, then find the variance of

(2-3x)

MTP June 24 ;J,V’ '
For a set of 100 observations, taking qg
mean as 4, the sum of the deviations is -11 ¢
the sum of the squares of these deviations
cm?. The coefficient of variation is:
g 1 4113% b. 42.13%

C. 40.13% d. None of these
MTP June 24 Se

Mean and S.D. of is 50 and 5 respectively,
x-50 ;

mean and S.D. of s

a. (1,0) b. (0,1)

c. (1,-1) d. (0-1) ‘
The standard deviation of 25, 32, 43, 53, 62
48,31,24,3315 1

‘e 1R b
¢ 1133 '

12.33

d. Noneofthmt
= T e MTP June 24 Serie
' TheSD is independent of change of

i a  Ongin
. O Both

b. Scale
d. None
MTP June 24 Serie

2) If the mean of frequency distribution is 100

coefficient of variation is 45% then SD is

. 5145 b. 045

ciy w45 d. 450

: 0 MTP June 24 Serie

if the mean and SD of X are a and b respectig

then the S.D of x; ‘

a. alb b 51

Al . id b :
' MTP Sep 24 Sei

a .
1S

= '-.»,“'-s AR AL

P

(74) Oi‘igin is shifted by 5, what will happen

SD will increase by 5
QD will increase by 5
. MD will increase by 5
. There will be no change in SD )
MTP Sep 24 Ser

Gt

(75) If mean and coefficient of variation of the mark

10 students is 20 and 80 respectively. What wil
. the variance of them? , .
a 256 ks #b.516 ”
Rosle 2. d. Noneof these




gf the same amount jg o
the of an individyqg] Series
deviation and variance both shall be

a. Changed
C Same

T a
)

. MTp
If all the observations aye increaseqd
 variance of the series wil] pe

creased - i« Coefficient of Range
L b Decrenseg b. C%ient o?Q.D?
¢ Uncha"ged d.  None of these ¢ Coefficient of S..
— Ky ’ ' . Coeffcient of M.D. _
i T 3 a PYQ June 19
e e 6 b ) meQDofsnumbafusssMossuzs
e ' 950 9 C 8/
b 11 ¢ 12 R
a 14 ¢ 15 o g PYQImm
J g 18 b ®) ,deumtwmsumen Q,/0,
: 0 L _ > b. 43"
b 23 d 24, d 35
b 2% ¢ 274 d . i  PYQJam.2
L 29 a 30 a : %'ﬁ;__ofthefollowmgzsarelatwe measure of
b 825 d a dispersion?
: s N ek
ean n
: 22 : h Standard deviation
Coeﬁiczent of quartile deviation
" i o  PYQJune2
4 :.5& .Muchtsnotameasureofcentral tendency




———

Central Tendency & Dispersion . j

T
PY(
b

is based on all the observations and 16) In whzch ofthefollow;'lg thz;fnl:?m ; :"
is based on the central fifty percent of presence of extreme 00Serva

the observations. a. Range' P

a. Mean deviation, Range Quartile devuftl{m

b. Mean deviation, quartile deviation S tm?dard devi s

¢.  Range, Standard deviation e A Variance i
- Quertie deviation Brens d;(;g lg:c 22 (17) The Quartile Deviation of the distribution
Which one of the followmg is not a method of following data is: '
measures of dispersion?
a. Standard deviation
b Mean deviation

c. Range

d Concurrent deviation method

PYQ June 23

For a given set of normally distributed data, the
following statistical parameters are known: Mean
= 6; Standard deviation = 2.6; Median = 5 and
Quartile deviation = 1.5, then the coefficient of
quartile deviation equals to
o ) ' b, .32
c. 25 d. 39

b.
c.
d

PYQ June 23
(12) If the first quartzle is 42.75 and the third quartzle ‘
is 74.25, thenthecoejﬁcwntonD is:

s gwtaly. 22

oo MTPMale/ S
A & The quartiles of a variable are 45, 52 an
respectively. Its quartile deviation is -
a. 10 b. 20
: 6. 25 d. 830 |
o ~ MTP May 19 Se
(2)  Quartiles can be determined graphzcally
a. Histogram
b.  Frequency Polygon
¢. Ogive
d. Piechart ,
G MTP May 19 Se
Which measures of dispersions is not affect
the presence of extreme observations?
a. Range
b.  Mean deviation
¢.  Standard deviation
d.  Quartile deviation




Contral Tendenty SOWBperson

: =t MTP Mq S
) : 19
s measure is based on Y 19 Series 11
) 0 only the centrql MTP March 22
percent of the observations? fifty '
a. Standard deviation SOUING ¢ oy e AL &8 2E 00 2 %ﬁz
p.  Quartile deviation ?mfrt::le P e s e
¢.  Mean deviation aema;:m Sye
‘ d. All these measures c: 16 Z ;5
’ : ' MTP May 20 MTP June “
6 The apprornate measure of dispersion for ozen- (14)  The QD from the following observations is
end classification is s 10,18,20,28,15,17,22,25,29,32,34 is equal t0:
a. Standard deviation a. 8 b. 6
p.  Mean deviation cinido d 5

- Ll MTP Dec 22 Series IT

¢ Quartile deviation
(15) TheQD of six numbers 15, 8, 36,40, 38,41 is

_ d Al thﬁemeasures
B MTP May 2
© The quartiles of a variable are 45, 52 ar:iy 7‘5’
- respectively. Its quartile deviation is

a 15 - &b 20
.2 t-d-".8.30
e" &r ‘*i\ 3 i‘d’ o MTPMay 20

m If x and y are related as 3x+dy = 20 and the
 quartile deviation of x is 16, then the QD ofyis
16 ' b. 14

IftheSDofavanableXlsothenQuarhle
Deviation (QD) is

a. 4/50 b. 320
¢ 230 d 5M4c
SRS MTPMay 19
 (18)  Which one is an absolute measure of dispersion?
a. Range

; . MTPNov20
A shiﬁ of origin has no impact on
: b Standard deviation
1 i 2 m? ﬁ‘ %: W Qu%m‘le devmtwn
 MTP Nov 20

X Whtch measm is based on all the observations
a. - Standard deviation
p.  Mean deviation
Quartzle deviation




& whid,masureisbasedo,,on
# percent of the observations,
~ q. Standard deviatigy,
¢. Mean deviation
d. Al these measyres

R :
Theappforﬂafemazsureofd‘ MTPMuyzo

end classification is Spersion for open.
a. Standard deviatioy
b. Mean deviation
¢ Quartile deviation
d.  All these measures

% " The quartiles of a varigble ar;e MTPM.;yZO

: : 45, 52
* respectively. lts quartile devigtioy, is e

a 15 b. 20
¢« 2 Ed 830"
AT o2 UTHA : ’
& ,\..i - . MTPM
If x and y are related as 3x44 e

| - bt Y.= 20 and the
quartile deviation of x is 16, then g, QDofy i

. o yis

g .16 b. 14

13) : BNt
’.fxandyarenlatedas3x-4y=20the"t{w
Quartile Deviation of x is 12 , then the Quartile

dtviation of yis:
L b. 15
¢ 16 d 9
(14) s

5 The QD from the following observations is

10'18,20.28,15,17,22,25,29,32,34 is equal to:
a. 8

b. 6
¢ 10 d. 5
'*('1-5) Sl MTP Dec 22 Series I
~ The QD of six numbers 15, 8, 36, 40, 38, 41 is
equal to: K ":

b. 4/3 -
ottt gralgls -
BEE L MTP Nov18
then Quartile
b. 320
d. 5o
P FelEseuo R e MTPMay 19
(18)  Which one is an absolute measure of dispersion?
a. Range
~b. - Mean Deviation
¢.  Standard Deviation
AR, BF

- All these measures

~ MIPNov20
e sh!ﬁ ofmg;n has no imp_ act on

- a. Mean deviation
" Quartile deviation

 MTP Now 20
Thich measure is based on all the observations
- Standard deviation :

Quartile deviation _
" Both (a) and (b) 1y ‘

R L MTPApr 21
ich of the below is affected by shifting of
m& . R
G SDid

b. MD



’__/"‘1
Central Tendency & Dispersion W gpte

"B

MTP Dec 23 —

m———

d. All of these
MTP Oct 21

Which one is an absolute measure of dispersion?
a. Range

b.  Mean Deviation

c.  Standard Deviation

d.  All these measures

¢. QD

22)

MTP June 22
The Quartile deviation is
a. 2/30fSD b. 4/50fSD
c. 5/60fSD d. None of these
MTP Dec 22 — Series 1
(24)  The approximate ratio of SD, MD, QD is
a 234 b. 345
c. 15:12:10 d.c 5:6:7
. MTP June 2023 Series I
is based on all the observations
and is based on the central fifty
percent of the observations.
a.  Mean deviation, Range
b.  Mean deviation, quartile deviation
. Range, standard deviation
d. Quartile deviation, standard deviation

23)

25)

 MTP June 2023 Series
(26)  Which one of the following is not a method of
measures of dispersion?
W ),’f‘ﬂfiﬂb & Z Mgm»a‘ibm; i

uartile is 142 and semi-inter

If the first Q
P fuart{lie range is 18, then the value of me

¢ 151 b. 160

. 178 d. None of thes

g MTP June 24
ey IX and Y are related as 3X —4Y =206

quartile deviation of X 15 12, then the ¢

deviation of Y 8 :

a4 b. 15

& 16 dins'9

MTP Sep 24 S

(32) Fora moderately skewed distribution, g

deviation and the standard deviation a e -

i:

i LN 39

- g TR e S.D.=—Q8
5D.=3QD i
s pei d. i 3 A

% "s,D_'éL;-Q.D 5D.=>QD

. If the first Quartile is 142 and semi-Inter qa
range is 18, then the value of median is

b o 18 b. 24
¢’ ¢ 2 d 21
MTP Sep 24 Se

Which measures of dispersions is not affectt
the presence of extreme observations?
Range
b.  Mean deviation

~ Standard deviation
 Quarti

ile deviation

e

|
&

| w3 ) 2' c -3 d
ANy 0 6 a
ALY A8 dm,,| =58 2b 119 B 1
R § 12 a %
2y 14 5158
17 c 18 d
, : 20 d 21 4
d S 28y 623 a 24 ¢
‘ W 352601 d 27 &
BN 29 b 30 b
§eh32 4 33 b
by al



